Labyrinthe des multiplications

Tu calcules et tu colories le chemin correspondant.

36|18 | 9 | 64| 35|82 77|52
54| 8 | 45|73 | 74|69 (16|65 4 gyo- 9.
3| 7|4 |54|33]36]2 |52] 2 9x4=- 10.
3. 9x6-.. 1.
1145|7227 9 81| 9 |55| 4 9x..=27 12,
5. 9x..=63 13.
27 |18 | 45| 5 | 54|36 |54|92| ¢ gy5- . ”
56| 9|9 |8 [81]45|27] 2| 7 9xB=.. 15.
8. 9x5-.. 16.
53 | 36| 43|11 |54|36]| 8 |54
9 (95|88 |81|72| 9 |45 63
J
Labyrinthe des multiplications
Tu calcules et tu colories le chemin correspondant.
J
36| 18| 9 | 64| 35|82 77|52
54| 8 | 45|73 | 746916 65| 4 gyo- 9
3| 7|4 |54|33]36|2|52] 2 9xé=- 10.
3. O9x6=.. 1.
1 145|72|27| 9|81| 9|55 4 9x..=27 1.
5. 9x...=63 13.
27 | 18 | 45| 5 | 54|36 54| 92| 4 gy5_ 1z
56| 9|9 |8 [81|45|27] 2| 7 9xB=... 15.
8. 9x5=_. 16.
53| 36| 43| 11|54 36| 8 |54
9 | 95|88 |81|72| 9 |45] 63

9x...=45
9x6=...
9x4=..
9xb=_.
O9x4=...
9x...=72
9x6=._.
9x7=...

9x...=45
9x6=...
x4 =_..
9x5b=...
9x4=._..
9x..=72
9x6=...
9x 7 =...

Labyrinthe des multiplications

Tu calcules et tu colories le chemin correspondant.

36| 18| 9 | 64| 35| 82| 77|52
54| 8 | 45|73 | 74|69 (16|65 4 gyo- 9.
3| 7|4 |54(33]36]2 |52 2 9xé=- 10.
3. 9x6=.. 1.
1 145|72127| 9 |81|9 |55| 4 9x..=27 12,
5. 9x..=63 13.
27 |18 | 45| 5 | 54|36 |54|92| ¢ gy5- . 1%
56| 9| 9|8 |81|45|27| 2| 7 9Ix8=.. 15.
8. 9x5-=.. 16.
53| 36| 43|11 |54 36| 8 | 54
9 |95|88|81|72| 9 |45 63
3
Labyrinthe des multiplications
Tu calcules et tu colories le chemin correspondant.
36118 | 9 | 64| 35|82 77|52
54| 8 | 45|73 [ 74|69 (16|65 4 gyo- 9.
3| 7] 4 |54]33|36]2 |52 2 9x4=- 10.
3. 9x6=... 1.
1145|7227 9|81| 9 |55| 4 9x..=27 12
5. 9x..=63 13.
27 |18 | 45| 5 | 54|36 54|92 | 4 gyg5. . "
56| 9] 9|8 81|45 |27 2| 7 9x8=.. 15.
8. 9x5=_.. 16.
53| 364311 |54|36]| 8 |54
9 | 95|88 |81| 72| 9 |45 63

9x...=45
9x6=...
9x4=..
9xb=_.
O9x4=...
9x...=72
9x6=._.
9x7=...

9x...=45
9xb6=...
9x 4 =_..

9x5=_.
9x4=._..
9x...=72
9x6=...
9x 7 =...



Labyrinthe des multiplications
Tu calcules et tu colories le chemin correspondant.

¥

7264|7722 5 | 7 | 63|54
91|25|79| 9| 3|8 | 60| * 7=~ M 9x2=..
2. 9x..=63 12. 9x10=..
631 72|90 | 9 | 72|27 | 2 | 82| 3 9x..=72 13. 9x..=2/
4. 9x3=.. 14. 9x%x..=9
90|18 |27 [90| 1 | 8 |54 |65| 5 gx8— 15 9x9 <
30 72] 9| 9l45]63|100] 56| & 9%--=9 16. 9x5=...
7. 9x5=__ 17. 9x1=...
11 4 63|18 72|63]92]92| 8. 9x1=._. 18. 9x5=...
9. 9x1=.. 19. 9x2=_..
18 | 4590 | 36| 45|29 | 63|95 | 49 gy3-
72| 9 | 45|18 | 63| 26| 63| 54
N)
Labyrinthe des multiplications
Tu calcules et tu colories le chemin correspendant.
N)
72| 64 |77 | 22| 5 | 7 | 63| 54
91|25|79| 9| 3|8 | 60| * =~ M Ox2=..
2. 9x..=63 12. 9x10= ..
637290 | 9 | 72|27 | 2 |82 3 9x..=72 13. 9x..=27
L. 9x3=.. 14. 9x..-9
90|18 |27 |90 | 1 | 8 | 54| 65| 5 gxg8—. . 15 9xo -
3072|919 ]45]63|100 56 & 9x-=2 16. 9x5=...
7. 9x5=_.. 17. 9x1= .
11 4 63|18 72|63]92]92| 8. 9x1=._. 18. 9x5= .
9. 9x1=_. 19. 9x2 = __
18 | 45|90 | 36|45 (29| 63| 95| 40 gx3—
721 9 | 45|18 | 63| 26| 63| 54

Labyrinthe des multiplications
Tu calcules et tu colories le chemin correspondant.

¥

721 64 | 77| 22| 5 | 7 | 63| 54
91|25 |79 9| 3|8 |6 |gf| + =~ 1 OxZ=..
2. 9x..=63 12. 9x10= ...
63| 72|90 | 9 |72|27| 2 |82 3. 9x..=/2 13. 9x..=2/
4. 9x3=.. 14. 9x..=-9
90|18 |27 90| 1| 8 |5 |65| 5 gxg— . 15 9x9-
3 (72| 9] 9463|0056 & ¥=-=2 16, 9x5=..
7. 9x5=__. 17. 9x1= ..
11 4 6318726392 92| 8. 9x1=.. 18. 9x5=__.
9. 9x1=.. 19. 9x2=_..
18 | 45|90 | 36| 45|29 | 63| 95| 45 gx3- .
721 9 | 45|18 | 63| 26| 63| 54
NP
Labyrinthe des multiplications
Tu calcules et tu colories le chemin correspondant.
N
72| 64 | 77| 22| 5 | 7 | 63| 54
91|25 |79 9| 3|8 |6|g| + 9X/=- 1. 9x2=..
2. 9x..=63 12. 9x10= ...
63| 72|90 | 9 |72|27| 2 |82 3 9x..=72 13. 9x..=2/
4. 9x3=_. 14. 9%x..-9
90 (18 |27 90| 1 | 8 |54 | 65| 5 gx8- 15 9x9-
3 (72| 9| 9463|100 56| & X-=2 16. 9x5=...
7. 9x5=.. 17. 9x1=
11 4 6318726392 92| 8. 9x1=._. 18. 9x5=
9. 9x1=_. 19. 9x2 = __
18 | 45|90 | 36| 45|29 | 63| 95| 45 gya_
721 9 | 45|18 | 63 | 26 | 63| 54




Labyrinthe des multiplications

Tu calcules et tu colories le chemin correspondant.

1. 1x..-9
¢

2. 9x9- ..

6|5 (81| 9| 2]80|13|3]| 3 ax s
118 4|57 |50]36]es| % Ix==72
5. 9x2=..

3618 1 36| 7 |27]76|63] 6. 7x9=_.
72063190 4|18 |38|66|52]| 7 10xF=-
8. 9x..-36

36185 | 9| 3|5 |39]|8| 9 1x9=.
2 89lss| 8] als|11]es| 19 %X=72
11. 9x..=81

0716213 90|72 6] 9]|63| 120 8x9=...
13. 2x9= ..

6 97| 8 |36|18|27|72|36| 14 axo_.
U 15. 9x8- ..

16. 4x9= ..

Labyrinthe des multiplications

Tu calcules et tu colories le chemin correspondant.

1. 1x..=9
NP

2. 9x9-=_.

6|5 (81| 9|2 |8|13]| 3 3. Qgx. =45
1084|557 |50]36|es| % 9X-=72
5. 9x2=_..

36118 | 1 | 36| 7 | 27| 76| 63 6. 7x9=_.
72163190 | 4 |18 |38 | 66| 52 7. 10x9= ...
8. 9x..=36

36118 |5 9] 3|5 |39]|82 9. 1x9=_.
22189 |54 8] 9|3 ]11]|83 10. 9x..=72
11. 9x...=81

27162 3 |90|72| 6| 9|63 12. 8x9=_.
13. 2x9=_..

6|97 8 | 36|18 |27 |72 36 14 3x9-
N2 15. 9x8=_..

16. 4x9=_..

Labyrinthe des multiplications

Tu calcules et tu colories le chemin correspondant.

1. 1x..=9

v 2. 9x9-__.

6|5 (8| 9|2 |80|13]| 3 3. 9y —45
118|457 |50|36|es| 4 x-=72
5. 9x2-=_.

36118 | 1 | 36| 7 | 27] 76| 63 6. 7x9=_.
72163190 | 4 | 18 |38 | 66| 52 7. 10x9=...
8. 9x..=36

36118 5| 9| 3|5 |39]|82 9. 1x9=..
22189 |54|] 8| 9|3 ]1]|83 10 9x...=72
11. 9x...=81

27162 3 |90| 72| 6| 9|63 12. 8x9=_.
13. 2x9=_..

6|97 8 | 36|18 |27 |72 36 14 3x9-
N2 15. 9x8=...

16. 4x9=._..

Labyrinthe des multiplications

Tu calcules et tu colories le chemin correspondant.

1. 1x..-9
¢

2. 9x9- ..
6|5 (81| 9|2]80|13|3| 35 oy -5
1084 |5|7|50]36|es| % OX-=72
5. 9x2=..
36018 1 36| 7 |27]| 76| 63| 6. 7x9=_.
7206390 4|18 |38|66|52]| 7 10xF=--
8. 9x..-36

3618|593 |5 |30]8]| 9 1x9=
20| eolss| 8] ols]11]es| 19 9X=72
11. 9x..-81
971623 [90|72| 6| 9]63| 12. 8x9=...

13. 2x9-=
6|97 |8 |36|18|27|72|36| 14 3x9-..
N7 15. 9x8=_..
16. 4x9= ...

Labyrinthe des multiplications

Tu calcules et tu colories le chemin correspondant.

1. 1x..-9
¢

2. 9x9- ..
6|5 (81| 9|2]80|1B3|3| 3 oy s
118|457 |59]36|es| % 9X-=72
5. 9x2-= ..
36118 | 1 36| 7 |27|76] 63| 6. 7x9=_.
72063]90| 4|18 |38|66|52] 7 10x9=-
8. 9x..-36
361185 9| 3|5 |39]8| 9 1x9-.
20| eolss] 8] als|11]es| 19 9X=72
11. 9x..= 81

27162 3 [90|72]| 6| 9le3| 12 8x9=
13. 2x9= ..
6 97| 8 |36|18]27|72]36| 1z 3x0-..
T 15. 9x8- .
16. 4x9= ...

Labyrinthe des multiplications

Tu calcules et tu colories le chemin correspondant.

1. 1x..-9
¢

2. 9x9- ..

6|5 (819280133 3 gy —ss
118|457 |50|36]es| % Ix==72
5. 9x2=..

36018 1 (36| 7 |27]| 76| 63| 6. 7x9=_.
72063 90| 4 |18 |38]66|52| 7 10%%=-
8. 9x..-36

360185 |9 |3 |5 |39]8]| 9 1x9=..
2l ealssl el als|1n]es] 10 9xw=72
11. 9x..-81

271623 |90|72| 6| 9|63| 12. 8x9=...
13. 2x9= .

697 |8 |36]18]27|72|36| 12 3x9-.
N7 15. 9x8=_..

16. 4x9= ..



36 | 18 | 9 | 64 | 35| 82 | 77 | 52
54 8 |45 | 73 | 74|69 | 16 | 65
3 7 4 |54 ] 33| 36 | 2 52
1 45 | 72 | 27 9 | 81| 9 55
27 | 18 | 45 | 5 54 | 36 | 54 | 92
56 9 9 3 81 | 45 | 27 2
53 | 36|43 |11 | 54| 36 | 8 54
9 95 | 88 | 81 (72| 9 | 45| 63

J

J
72 164 | 77 | 22| 5 7 63 | 54
91| 25| 79 9 3 8 6 | 90
63 | 72 | 90 9 | 72 | 27 2 | 82
90 | 18 | 27 | 90 1 8 54 | 65
3 |72 9 9 | 45 | 63 | 100]| 56
1 4 63| 18| 72 | 63 | 92 | 92
18 | 45 | 90 | 36 | 45 | 29 | 63 | 95
721 9 |45 | 18 | 63 | 26 | 63 | 54

¥

6 5 | 81 9 2 (80| 13| 3
1 3 4 5 7 | 59| 36 | 68
36 | 18 1 36 | 7 | 27 | 76| 63
72 | 63 | 90 4 18 | 38 | 66 | 52
36 | 18 | 5 9 3 5 39 | 82
22 | 89 | 54 8 9 3 11 | 83
27 | 62 | 3 90 | 72 | 6 9 | 63
6 | 97 | 8 36 | 18 | 27 | 72 | 36

J




